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QUESTION 1

After a recent data loss event, the IT department plans to deploy a DR site using vSphere Replication with vSAN
providing the storage backend.

The architect would like to know how many components will be created based on the following configuration:
2x 100 GB VMDK RAID 1 vSAN Storage Policy 4x Point in Time snapshots

How many components will be created?

A. 32

B. 24

C.16

D.8

Correct Answer: B

QUESTION 2

A business unit requires proprietary data to be protected against a site failure while using the least amount of storage
and the least amount of nodes. AN administrator plans to implement a vSAN Stretched Cluster with a RAID-5 policy.

What is the minimum number of data nodes across all sites in this VSAN Stretched Cluster configuration?
A4

B. 8

C.12

D.6

Correct Answer: B

QUESTION 3
A 100GB virtual disk object has this storage policy assigned to it:

Site disaster tolerance: None - standard cluster Failures to Tolerate: 1 failure - RAID-1 (Mirroring) Number of disk stripes
per object: 3

What is the maximum amount of raw VSAN storage capacity consumed by this virtual disk?
A. 200GB

B. 100GB
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C. 300GB

D. 600GB

Correct Answer: B

QUESTION 4
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The cluster level backend IOPS performance graph shows a higher-than-average number of IOPS for back-end

storage.

What is a possible reason for this situation?

A. Data resynchronization is in progress.

B. DRS is invoking multiple vMotion migrations.

C. There is VM storage 1/0O traffic.

D. Not enough capacity for slack space is on vSAN datastore.

Correct Answer: A

QUESTION 5

An administrator must choose between deploying a virtual witness or physical witness for a vSAN Stretched Cluster.

The administrator eventually decides to use a virtual withess.
What is a benefit of selecting this approach?

A. Reduced vSphere licensing

B. Additional compute capacity for running VMs

C. Shared metadata between separate clusters

D. Increased vSAN datastore capacity

Correct Answer: A
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